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(1)9x =10x+1 (7) —x—-16=—-6

(2) -9x=-7x-14 8) -9x+13=-5

(3) 6x = —24 + 14x (9) —7x + 25 = —2x
(4) —9x = —15 — 14x (10) —6x + 20 = —11x
(5) =12 + 8x = —4 (11) 24 + 4x = —4x
6) -12+x = —6 (12) —4 + 9x = 7x
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(1)3x =11x +24 (7)4x + 8 = -8
(2)—x=7x+16 8)7x+4=-3
(B)-3x=14-x (9) 2x + 8 = —6x
(4)-7x=2-9x (10) -10x -2 = -9«
6)-5+x=-9 (11) =18 —6x = -9«
6)3+x=5 (12) =6 — 5x = —8x
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(1)7x=2x-5 (7)2x+17 =5
(2)8x =5x—-6 B)x+2=7

(3) —6x =6 —12x (9) -5x+ 8 = -7x

(4) —5x = =12 — 2x (10) 4x — 21 = 11x
(5)-11-4x =5 (11) -4 — 10x = —14x
(6)19 -5x = -6 (12) =10 = 7x = —6x
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(1) 6x = 13x + 21 (7)-9%x—-1=8

(2) 8x =15x - 21 8)3x+14=-4

(3) 3x=-7-2x (9) -10x — 12 = -8«
4)x=-18-x (10) 3x — 18 = 12x
(5) =11 +9x = -2 (11) =2 — 7x = —6x
(6) =10 + 9x = —1 (12) =20 + 8x = 12x
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(1) -4x =x-10 (7) —6x+10 =4
(2) 2x = —x + 21 (8) —7x +6 = —1
(3) —4x =-4-3x (9) =5x +21 = 2x
(4) —=9x = =20 — 11x (10) 7x — 24 = 10x
G)13-x=5 (11) -3 — 6x = —bx
(6) —14 — 6x = 4 (12) -4 — 9x = —7x




OO000000000000000 00 W-7==-15x000)000 6
http://www.study-x.com/

(1) 8x =3x+15 (7)2x—-2=-4
(2) 5x=-3x-6 (8) —6x—-18 =6
(3) 6x =16 + 8x (9) —x +24 = -9x
(4) 4x=24-7x (10) -7x +24 = —x
G)-1+2x=1 (11) 20 — 5x = —7x
(6)25-3x=1 (12) —16 — 2x = 6x
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(1) 8x = 6x + 18 (7) -3x—18 = -9
(2) —10x = -9x + 4 (8) 5x+19=4
(3)8x=-5+"7x (9) -3x+5 = —-8x
(4)9x =5+ 8x (10) 9x + 4 = 5x
(5)13 + 5x = =7 (11) =24 + 4x = 8x
(6) -1 —-6x=-7 (12) =1 + 4x = 5x
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-10x = —9x — —x+15=
(1) -10 9x -4 (7) 15=8
—4x = —13x — x+16 =
(2) —4x = —13x — 18 (8)2x +16 =8
(3) 7x = -8 + 6x (9) 5x — 18 = 8x
(4) 4x =10+ 9x (10) —x — 20 = 4x
BG)5+x=-1 (11) 25+ 3x = 8x
(6) -16 —10x =4 (12) =3 + 9x = 12x
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(1) -10x = —14x + 8 (7) -3x-9=6

() 4x=3x-7 (8) 2x + 12 = —6
B)2x=-7+x (9) —-10x — 6 = —16x
(4)2x = -9 + 3x (10) 4x + 15 = 9x
5)2-6x=8 (11) 20 + 5x = 10x
(6)-15+3x=3 (12) 20 — 3x = 7x
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(1) 9x = 14x + 10 (7) 5x+8=-7
(2)4x =3x-9 (8) —6x+1=-5
(3) —10x = 14 — 8x (9)4x —6 = —2x
4)7x =-16 —x (10) =5x — 1 = —4x
®)-1+8x=-9 (11) 24 — 5x = 3x
(6) -3 +x=—4 (12) —4 + 9x = 10x
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O01
Mx=-12)x=7@)x=34)x=-3()
x=16)x=67)x=-108)x=29)x=5
(10)x=—-4(11)x=-3(12)x=2

0o 2
MHx=-32Qx=-20@)x=-7Gx=1
BG)yx=—406)x=27)x=-4@8)x=-1(9
x=-110)x=-2(11)x=6(12)x =2
Oood 3
MHx=-12)x=-20B)x=14)x=4(0)
x=-406)x=57)x=-68)x=509)x=-4
(10)x=-3(11)x=1(12)x=-10

00 4
MHx=-32)x=3@)x=74)x=-9(0)
x=106)x=17)x=-18)x=-69)x=-6
(10)x=-2(11)x=-2(12)x=-5

Ood 5
Mx=2R@)x=7B)x=44)x=-10(5)
x=86)x=-37)x=108)x=109)x=3
(10)x=-8(11)x=-3(12)x=-2

00 6
MHx=32)x=30B)x=-84)x=80B)x=1
6)x=87)x=-108)x=-409)x=-3(10)
x=411)x=-10(12)x =-2

oo 7

Mx=92)x=-40@) x=-54)x=5(5)
x=-406)x=17)x=-38)x=309)x=-1
10)x=-1(11)x=-6(12)x=-1

00 8
MHx=42)x=-20@)x=-84)x=-2
BG)yx=-606)x=-27)x=78) x=-4(9)
x=—-610)x=—-4(11)x=5(12)x=-1
Oodo9
MHx=22)x=-7@)x=-74 x=9(5)
x=-16)x=67)x=-5@8x=-909)x=1
(10)x=3(11)x=4(12)x =2

0o 10
MHx=-2@Q)x=-90@)x=-7@) x=-2(5)
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x==-106)x=-17)x=308)x=109)x=1
10)x=-1(11)x=3(12)x =—-4



